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Résumé

On The Two Problems of The Number Theory

I. On The Order of An Element belonging to Several Reduced Residue

Systems

When ¢ is an element common to reduced residue systems modulo p, ¢ and
pq, the order of @ modulo pg is a function of the order of @, modulo p, and ¢

ord,, a = {ord,a, ord,a}

under the coudition of (p, ¢) = 1. It is an object of this paper to generalize
the theorem.

I. On The Theorem of L. C. M.

The step-method of L. C. M. is explained generally on the prime-factorizing,
but here a little generalized method is constructed without using prime-

factorization.
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